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LIFE SCIENCE 

LSE-13 : PLANT DIVERSITY-II 

Time : 3 hours 	 Maximum Marks : 75 

Note : Question no. 1 is compulsory. Attempt any six 
questions from question no. 2 to 10. 

1. 	(a) Explain the following in one or two 	5 
sentences : 

(i) Cystolith 

(ii) Soft wood 

(iii) Condiments 

(iv) Abscission 

(v) Pneumatophores 

(b) Give botanical names of one plant each 	5 
that : 

(i) has winged pollen grain 

(ii) yields opium 

(iii) has aril 

(iv) yields saffron 

(v) yields castor oil 
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(c) Mention the morphology of the plant part 	5 
from which the following products are 
obtained : 
(i) Cotton fibre 
(ii) Coffee 
(iii) Apple (edible part) 
(iv) Turmeric 
(v) Quinine 

	

2. 	Draw labelled diagrams of any two of the 
following : 	 5x2=10 
(a) T.S. Mericarp of Foeniculum vulgare 
(b) L.S. bud of Clove 
(c) L.S. seed of Ephedra 
(d) T.S. root of Orchid 

	

3. 	(a) Describe with the help of diagrams, five 	5 
diagnostic floral features of Asclepiadaceae. 

(b) Discuss breeding and improvement in 	5 
wheat maize plant. 

	

4. 	Describe and discuss the various modifications in 10 
plant parts of angiosperms that help them adapt 
to various climatic conditions. 

	

5. 	Distinguish between any two of the following : 
(a) Monocot and dicot stem 	 5x2=10 
(b) Essential oils and fixed oils 
(c) Nicotiana tabacum and Nicotiana rustica 
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6. 	(a) Describe any five diagnostic features of 	5 

family Musaceae / Poaceae. 

(b) Describe the anatomy of coralloid root of 
cycas. 

5 

	

7. 	(a) Expand : CDRI, ICAR 	 2 

(b) Describe the manufacture of sugar from 	8 
cane. 

	

8. 	(a) Discuss the economic importance of family 	6 
Poaceae. 

(b) On what basis Gnetum is placed in 	4 
gymnosperms and not in angiosperms. 

	

9. 	Write short notes on any two of the following : 

(a) Plant defences 	 5x2=10 

(b) Parasitic plants 

(c) Nuts 

(d) Diagnostic features of Malvaceae / 
Brrassicaceae 

10. Diagrammatically represent and describe the life 10 
cycle of Pinus. 
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5. 	tqci 1474 Feb 	t -f-aq -q 	: 
	5x2=10 
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7. 	(a) 1-0 Tizr fofuR : CDRI, ICAR 	 2 
(b) 	fir 	3fT71 	t, qui9 wIfqq. ? 	8 
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5x2=10 

10. 111.FrW Q1-119h 	auk 31-ka)'. Tifo 	I 	10 
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